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8 Looon

import java.awt.*;
import java.applet.x*;
import java.awt.event.x*;

import javax.swing.x*;

public class ron extends Applet implements ActionListener, ItemListener {

TextField sigma,mitsudo,hubble;
Button buttonh,buttons,buttong;
Choice ch=new Choice();

int color=0;

int fs1=50 , fs2=25;

int count=-fs2;

int i, k;

double H,h;

double S,S2,s,q;

double x , y , Z;

double x12, y12 ,z12 ,dx;

new double[500] ;
new double[500];

double[] hairetsux

double[] hairetsuy
String kyokuritsu;

void pause(int time){
try { Thread.sleep(time);}
catch (InterruptedException e) {}
}

void field(){
Graphics g=getGraphics();
g.setColor(Color.black);
g.drawLine (0, 500, 1000, 500);
g.drawLine (300, 0, 300, 550);
for(int i=0;i<11;i++){
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g.drawLine(i*100, 490, i*100, 500);
int i12=i-3;
g.drawString(i2+"", ix100, 510);
}
for(int j=0;j<6;j++){
g.drawLine (300, 0+j*100, 310, 0+j*100);
int j2=5-j;
if (j2>0){
g.drawString(j2+"", 290, j*100+10);
}
}
g.setFont (new Font ("PLAIN",Font.PLAIN,fs1));
g.drawString("t",970,550) ;
g.drawString("R",250,100) ;
g.dispose();
}

double bouchou(double dx){
x12=x+0.5%*dx;
y12=y+0.b*xdx*z;
z12=2+0.5*dx* (-s/y/y+(s-q) *y) ;

x=x+dx;
y=y+dx*z12;
z=z+dx* (-s/y12/y12+((s-q) *y12) ) ;

return X;

public void init(){

sigma=new TextField("O O P",4);
sigma.setFont (new Font("", Font.PLAIN, 20));
add(sigma) ;

mitsudo=new TextField("O O P",4);
mitsudo.setFont (new Font("", Font.PLAIN, 20));
add (mitsudo) ;

hubble=new TextField("73",4);
hubble.setFont(new Font("", Font.PLAIN, 20));
add (hubble) ;
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ch.setFont(new Font("", Font.PLAIN, 20));
ch.add("O");

ch.add("O");

ch.add("O");

ch.add("O");

ch.add("O");

add(ch);

ch.addItemListener(this);

buttonh=new Button("OO");
buttonh.setFont (new Font("", Font.PLAIN, 20));
buttonh.addActionListener (this) ;

add (buttonh);

buttons=new Button("OO");
buttons.setFont (new Font("", Font.PLAIN, 20));
buttons.setBounds(0 , 500 , 100 , 20);
buttons.addActionListener(this);

add (buttons);

buttong=new Button ("I O ");
buttong.setFont (new Font("", Font.PLAIN, 20));
buttong.addActionListener (this);

add (buttong);

}

public void actionPerformed(ActionEvent e){
if (e.getSource() == buttonh) {
S=Double.parseDouble(sigma.getText());
g=Double.parseDouble (mitsudo.getText());
h=Double.parseDouble (hubble.getText());

H=h/100;

count=count+fs2;

repaint();

}

if (e.getSource() == buttons) {

Graphics g=getGraphics();
g.setColor (getBackground()) ;

Dimension d = size();
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g.fillRect(0,0,d.width,d.height);
fieldQ);
count=-fs2;
}
if (e.getSource() == buttong) {
S5=0.24,;
q=-0.64;
h=73;
H=h/100;
count=count+fs2;
repaint();
}
}

public void itemStateChanged(ItemEvent e) {
String selected = ch.getSelectedItem();
if (selected=="0"){

color=0;

}if (selected=="0 "){

color=1;

}if (selected=="0 "){

color=2;

}if (selected=="0 "){

color=3;

}if (selected=="0 "){

color=4;

}

}

public void update(Graphics g) {

field();

g.setFont (new Font ("PLAIN2",Font.PLAIN,fs2));
if (color==0){

g.setColor(Color.red);
}if (color==1){
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g.setColor(Color.blue);
}if (color==2){
g.setColor(Color.yellow) ;
}if (color==3){
g.setColor(Color.pink);
}if(color==4){
g.setColor(Color.green);
}

x=0;

y=1;

z=1;
dx=-0.02;
i=0;
s=8/2;

while(y>0){
hairetsux[i]=x;

hairetsuy[il=y;
x=bouchou(dx) ;

if(x<=3 || y>5){
break;

}

if(z>2 || z<-2){
dx=-0.01;

Yelsed{

dx=-0.02;

}
i++;
}

if (y<=0){

g.drawString(-(double) (int) (x*9.778/H*1000) /100+"0 00 ",260+(int) (x*100), 525+coun
}

for(int j=i-1;3j>0;j--){
g.fillRect (300+(int) (hairetsux[j]*100), 500-(int) (hairetsuy[j]*100), 4, 4);
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pause(20) ;
}

if (3*s-q-1==0){

k=0;

Yelse if (3xs-q-1<0){

k=-1;

Yelse if (3*s-q-1>0){

k=1;

}

if (k==0){

kyokuritsu="0";

Hf (k==-1){

kyokuritsu="0U";

Hif (k==1){

kyokuritsu="0U";

}

g.drawString ("H="+h+", Q="+S+", g="+q+", A ="+((double) (int) (100*3* (H*H)* (s-q))/1(
System.out.println("H="+h+", Q="+s+", g="+q+", A ="+((double) (int) (100*3* (H*H)* (s-

x=0;
y=1;
z=1;
dx=0.02;

while(y>0){
g.fillRect (300+(int) (x*100), 500-(int) (y*100), 4, 4);

x=bouchou(dx) ;

if (x>10 || y>5){
break;

}

if(z>2 || z<-2){
dx=0.01;

Yelseq{

dx=0.02;

}

pause (20) ;
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if (y<=0){
g.drawString((double) (int) (x*9.778/H*1000)/100+"0 00 ",260+(int) (x*x100) , 525+count
}
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